Directors' dealings Archive 2012

In accordance with certain rules on insider dealing and market manipulation (market abuse), ABB is required to disclose transactions in ABB shares, derivatives or other financial instru-

ments linked to them, conducted by or on behalf of persons discharging managerial responsibilities or persons closely associated with them.

www.abb.com

Transaction date:	Notification by:	Position/Title:	Purchase/Sale/ Grant:	Issuer and ISIN:	Security:	Place:	Nominal value:	Number:	Price: per share/WAR	Value:
22-11-2012	Hubertus von Grünberg	Chairman of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	23,298	CHF 18.01	CHF 419,597
22-11-2012	Jacob Wallenberg	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	2,873	CHF 18.01	CHF 51,743
22-11-2012	Hans Ulrich Märki	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	10,649	CHF 18.01	CHF 191,788
22-11-2012	Roger Agnelli	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	2,873	CHF 18.01	CHF 51,743
22-11-2012	Michel de Rosen	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	2,873	CHF 18.01	CHF 51,743
22-11-2012	Ying Yeh	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	2,905	CHF 18.01	CHF 52,319

22-11-2012	Michael Treschow	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	2,922	CHF 18.01	CHF 52,625
22-11-2012	Louis R. Hughes	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	3,840	CHF 18.01	CHF 69,158
15-11-2012	Gary Steel The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	620	CHF 15.98	CHF 9,908
15-11-2012	Bernhard Jucker The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	620	CHF 15.98	CHF 9,908
15-11-2012	Diane de Saint Victor The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	620	CHF 15.98	CHF 9,908
15-11-2012	Veli-Matti Reinikkala The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	620	CHF 15.98	CHF 9,908
15-11-2012	Frank Duggan The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	673	CHF 15.98	CHF 10,755
24-05-2012	Hubertus von Grünberg	Chairman of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	22,685	CHF 18.49	CHF 419,446
	······•	·····		······································	· •· · · · · · · · · · · · · · · · · ·	· · • · · · · · · · · · · · · · · · · ·	·····	.	······	·····

24-05-2012	Jacob Wallenberg	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	2,807	CHF 18.49	CHF 51,901
24-05-2012	Hans Ulrich Märki	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	10,364	CHF 18.49	CHF 191,630
24-05-2012	Roger Agnelli	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	2,807	CHF 18.49	CHF 51,901
24-05-2012	Michel de Rosen	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	5,614	CHF 18.49	CHF 103,803
24-05-2012	Ying Yeh	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	2,807	CHF 18.49	CHF 51,901
24-05-2012	Michael Treschow	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	2,843	CHF 18.49	CHF 52,567
24-05-2012	Louis R. Hughes	Member of the Board of Directors	Grant	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	3,751	CHF 18.49	CHF 69,356
27-04-2012	Veli-Matti Reinikkala	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.03	4,300	CHF 17.34	CHF 74,562
30-03-2012	Joe Hogan The shares were granted under the 2009 ABB Long-Term Incentive Plan (LTIP)	CEO and Member of the Group Executive Committee	Grant	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	31,500	CHF 18.52	CHF 583,380

30-03-2012	Michel Demaré The shares were granted under the 2009 ABB Long-Term Incentive Plan (LTIP)	Member of the Group Executive Committee	Grant	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	23,837	CHF 18.52	CHF 441,461
30-03-2012	Ulrich Spiesshofer The shares were granted under the 2009 ABB Long-Term Incentive Plan (LTIP)	Member of the Group Executive Committee	Grant	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	11,302	CHF 18.52	CHF 209,313
30-03-2012	Tarak Mehta The shares were granted under the 2009 ABB Long-Term Incentive Plan (LTIP)	Member of the Group Executive Committee	Grant	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	3,903	CHF 18.52	CHF 72,284
30-03-2012	Gary Steel The shares were granted under the 2009 ABB Long-Term Incentive Plan (LTIP)	Member of the Group Executive Committee	Grant	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	11,843	CHF 18.52	CHF 219,332
30-03-2012	Bernhard Jucker The shares were granted under the 2009 ABB Long-Term Incentive Plan (LTIP)	Member of the Group Executive Committee	Grant	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	13,013	CHF 18.52	CHF 214,001
30-03-2012	Diane de Saint Victor The shares were granted under the 2009 ABB Long-Term Incentive Plan (LTIP)	Member of the Group Executive Committee	Grant	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	11,383	CHF 18.52	CHF 210,813
30-03-2012	Veli-Matti Reinikkala The shares were granted under the 2009 ABB Long-Term Incentive Plan (LTIP)	Member of the Group Executive Committee	Grant	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.03	11,321	CHF 18.52	CHF 209,665